ﬂé‘ Division as Repeated Subtraction w/Remainder (Number Line)

Use the number lineto solve the division problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Name:

42+5=
0
A

39

Answers

10.
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ﬂi‘ Division as Repeated Subtraction w/Remainder (Number Line) Name. Answer Key

Use the number lineto solve the division problem. Answers
1. ar2
2 3r2
2) 17+5=
o P P e P 17 3 5r1
—— e
4 r4
3) 21+4=
-4 -4 -4 -4 -4
(I) B L SR D 'l"""'~. B N z"""’|~.21 1 5. 4r5
ettt ettt
6. 5r3
7 or3
8. orl
5) 29+-6=
0 -6 -6 -6 6 29
........................................................................ 3rl
-ttt S
4r6
0 8 8 8 8 8. 4
4t o
7) 27+ 4=
0 - - S SR SO s S L
“++——t ot
-
9) 13+ 4=
0 " 4 4. B
ety ] | e v+
10) 38— =
0 -8 8 8 8. 38
-ttt o
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ﬂé‘ Division as Repeated Subtraction w/Remainder (Number Line)

Use the number lineto solve the division problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Name:

31+6=
0
4

41+ 8=

0
4

35+8=
0
¢

21 +7=

L L L L L L L T LI T LI LI T
31+5=
0 31
1 >
52+ 8=
0 52
-t
38+5=
0 38
IIIII :IIIIIIIIIIIIIIII ::I :: I: ::=:>
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Answers

10.
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ﬂi‘ Division as Repeated Subtraction w/Remainder (Number Line) Name. Answer Key

Use the number lineto solve the division problem. Answers
1) 31+-6=
o 6 6. b 6. ! 1 orl
4+ttt
2 5r1
2) 41+8=
o 8. . S B S AL a 3 4r3
4. 3r6
3) 35+-8=
0 -8 -8 -8 -8 35 3
----------------------------------------------------------------- 5. rl
4+ttt
4) 27 > orl
0 ol il 2T 6r4
4' T R T | L"T‘--I 1 .I...I."~J."I‘"T — |....|'~.|.¢"|‘--|' — |...'..'. I | '> 7
I 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 I 1
8 r3
9. r2
6) 31+5= 10. 3r4
0 .2 2 2 2 2 2. 38t
o
9 30+4=
0 4 - 4 4 2 2 4..30
O
10) 19— =
0 =2 2 2. 19
-t
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ﬂé‘ Division as Repeated Subtraction w/Remainder (Number Line) Name:

Use the number lineto solve the division problem. Answers
1) 36+7=
0 36 1

4+ttt

2) 3B+6=
0 35

e

3) M4+7=

4) 24+5=

5) 42 - 5=

6) 14+4= 10.

7) 5O +-8=

8 44+6=

9 35+4=

4
3

10) 30+-4=
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ﬂi‘ Division as Repeated Subtraction w/Remainder (Number Line) Name:

Answer Key

Use the number lineto solve the division problem.
1) B=-7=

.............
------------------
.

.............
.........
- -

-
o

2) 35+6=

.................................
~~~~~~~~
~~~~~~~~~~~

3) M4+7=

e - - -
- ~ Prl ~ - - - .y

~ ~ - ~ -

~ * .~ - .~ * e

o*

4) 24+5=

amm—. - - -
- s -e - - L - .
" “~, - Seey . ~. - ~.

6) 14+4=
0 LA A ol 14
)0

Answers
1 5r1
2 or5
3 4r6
4 ar 4
5 8r2
6. 3r2
7 r3
8 2
9 8r3
10. r2

10) 30— =
o A oA Ao At A0
-t O
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ﬂé‘ Division as Repeated Subtraction w/Remainder (Number Line) Name:

Use the number lineto solve the division problem. Answers

1) 47+8=

0 47 1.
-

¥

2) 27 -4 =
0 27
44—

3) 44+ 5=

4) 31+5=

5) 24+5=

6) 62+7= 10

7) 27+7=

8 27+6=

9 35+8=

10) 206 =
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ﬂi‘ Division as Repeated Subtraction w/Remainder (Number Line) Name:

Answer Key

Use the number lineto solve the division problem.
1) 47+ 8=

4) 31+5=

.................................
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘

5) 24 -5 =

---------------------
.....................
~ ~ ~ ~

6) 62+7=

7) 27+7=

-----
-------

- PELLETS
- LI - ~
-~ - ~ - ~
~ - -

~ - w0

8 27+6=

.......................................
..................

9) 35+-8=

.................................
.................

-
- -
- -

- -

10) 20 - =

-----------------------------------
....................

Answers
1 5r7
2 6r3
3 8r4
a4 orl
5, ar 4
6. 8r6
7 3r6
8 4r 3
9 4r 3
10. 3r2

1-10 | 90| 80| 70| 60

50[40]30]20]10] 0O |

Math

www.CommonCoreSheets.com 4



Name:

Division as Repeated Subtraction w/Remainder (Number Line)

Answers

10.

Use the number lineto solve the division problem.

1) 34+4

34

D L e B B )

2) 50+7

59

3) 2+4

22

42

D L L B e )

4) 42+8

29

0

4'1111I111|||111]1111'1111]1111'1111]||||>

5 29+6

43
4+t

6) 43+5
0

7) 20+6

34

+—+——+——+——++——

8 34+6
0

40

0

4+t

9 40+7

10) 33+7

33

0

4+ttt
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ﬂi‘ Division as Repeated Subtraction w/Remainder (Number Line) Name. Answer Key

Use the number lineto solve the division problem.

0 -4 -4 -4 -4 4
............................................
.........

| - el 1 A PRaa 1 Az e 1 RO | L LTS ~‘ } I | 1 L

LI L N I B R S R R B R R R R R R R R R =TT

5) 29+-6=

0 5 6 6 6. 29

T S T T 0 e TS T
6) 43+ 5=

Answers
1 8r2
2 8r3
3 5r2
a4 or2
5 4r5
6. 8r3
7 3r2
8 5r4
9 5r5
10. 4ar 5

10) 33— =
0 ! L = .. 33
-+ttt o+
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Math www.CommonCoreSheets.com 5



Name:

Division as Repeated Subtraction w/Remainder (Number Line)

Answers

10.

Use the number lineto solve the division problem.

1) 59+7

59

2) 33+8

33

0

e

3 45+6

45

0

4+t

4) 47+7

47

0

-+t

5 44+5

44

0

4'1111]11|||||||||||||||||I||11'1111]1111'1111]1}

6) 25+6

30

25
38

0

4+ttt

0

4+t

0

4t L

7) 38+5
8 30+8

9 18+5

18

10) 31+5
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ﬂi‘ Division as Repeated Subtraction w/Remainder (Number Line)

Name. Answer Key
Use the number lineto solve the division problem. Answers
1 8r3
2 4r 1
2) 33+8=
0 _____ :§'-~.. ;-""—'8'"-.. ..-"'—§ """""""" . _{3 """" 33 3 7r3
4+ttt o
4. or5
5, 8r4
6. 4r 1
7. r3
8. 3r6
Q. 3r3
6) 25+ 6= 10. orl
0 5 =8 5, 5.2
>
7)
>
8 30+8=
0 8. 8. 8. 30
e O T ST
9) 18+ 5=
0 3 o] 2. 18
4+ttt —+——+++
10) 31— =
0 - = - ] . 2.3
-ttt
1-10 | 90| 80] 70|60 |50[40]30]20]10] 0O |
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Name:

Division as Repeated Subtraction w/Remainder (Number Line)

Answers

10.

Use the number lineto solve the division problem.

1) 22+5

51

2) 51+6
0

D L L L s

3) 39+8

39

0

4+t

4) 54-+8

36

0

4'111||||||||||||11||||||||||||||||||||||||||>

5 36+7

32

0

B e T o

6) 32+5

7) 17+5

29

0

4+

8 29+4

33

0

4+ttt

9) 33+4

10) 43+8

43

DL L L B L e )
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ﬂi‘ Division as Repeated Subtraction w/Remainder (Number Line) Name. Answer Key

Use the number lineto solve the division problem. Answers
1) 22 +-5=
0 2 - S o 2 1 4r 2
e
2 8r3
2) 51+6=
o 6 & b & 8 L 8 85 3 47
4. or6
5, 5r1
6. or2
7. 3r2
8. rl
Q. arl
or3
0 -2 2 2 2 2 2. 32
e e e e
7) 17+5=
0 -2 . 2.
+————t+———t+——+—o+—t+++—++
——————+p
9 33:4=
o 4 4 4 4 4 4 4 433
e
10) 43+ 8=
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ﬂé‘ Division as Repeated Subtraction w/Remainder (Number Line)

Use the number lineto solve the division problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Name:

15+4=

<4—

Math

Answers

10.
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ﬂi‘ Division as Repeated Subtraction w/Remainder (Number Line)

1)

2)

3)

4)

6)

7)

Name. Answer Key
Use the number lineto solve the division problem. Answers
15+4=
0 A = SR 4. 15 L 3r3
—
2, 3r4d
25+ 7=
? J—— e e : A 25 3 7r3
4
4. 4rl
31+4=
0 -4 -4 -4 -4 -4 -4 -4 31
L L"'I—'-l-...~ 010":--:...'.~’Jo":---I-..:.‘.L"’I—--I ..... R4 —'-:..:.’ou":‘-I..:\uo"l"--l-..r‘ S. 7rl
4' T T T | ) T T I ) T T T | T T T I T T I T | T I T I ‘_»
6. 5r5
33+8=
0 -8 -8 -8 -8 33
TSt i Sl R A Y AT S ! ord
8 4r6
Q. or?2
ar3
0 0 2 S ® 0.3
O
21+4=
o .= B 4 - 2
4+ttt o+t

9)

10)

L e e . et "‘__.-....~ ¢"'“| ................
TN P T M MRS T N 2 CO T M AL Y TS NN SR BN R A | et ' —_
T L | L L L L L L | T ] L —
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Division as Repeated Subtraction w/Remainder (Number Line)

Answers

10.

Name:

Use the number lineto solve the division problem.

1) 14+4

14

44

55

2) 55+8
3) 4+5
0
4+ttt
4) 23+4

23

0

4+ttt

5 23+6

23

0

4+

33

39

34

+—+——+——+——++——

0

4+ttt

6) 33+4
7) 39+8
0
4+ttt
8 34+6
0

9 45+7

45

D L L e s

10) 39+5

39

0

4+ttt
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ﬂi‘ Division as Repeated Subtraction w/Remainder (Number Line) Name:

Answer Key

Use the number lineto solve the division problem.

1) 14+4=
0 ot 4 4 14
OSSP S P S T

4) 23+4=

-----
O

Q
F
.
Q
Q
2
.
(S
—
=

5) 23+-6=

.....................
.........
,,,,,,,,,

6) 33+4=

.....................................
¢¢¢¢¢¢¢¢¢¢¢¢
~~~~~~~~~~~~~~

Answers
1 3r2
2 or 7/
3 8r4
a4 or3
5 3r5
6. 8rl
7. a7
8 5r4
9 or3
10. r4

10) 39— =
0 ") = =2 2 > ] 22,39
e O b
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Name:

Division as Repeated Subtraction w/Remainder (Number Line)

Answers

10.

Use the number lineto solve the division problem.

1) 54+8

2) 35+6

35

0

e

3) 23+4

23

4) 46+8

46

D L e L L

37

0

4'1|||||||||||||||||||||11]1111'1111]1111'11}

5 37+8

6) 60+ 8

60

7) 31+5

31

0

4+ttt

8) 19+6

9 19+5

19

43

<|||||||||||||||||||||||||||||||||||||||||||||||||||>

10) 43+6
0
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ﬂi‘ Division as Repeated Subtraction w/Remainder (Number Line)

Name:

Answer Key

Use the number lineto solve the division problem.

1) B4+8=

2) 35+6=
0 . ° 0 2 0.3
O
3) 23+4=
0 4 4 4 4 4.2
>

6)

7)

T
o*

-
.

---------------

em .y P
- ~ - -~
. o* ~

-------
.

8)

............
————

-------
........
- .

-
"

------
-----

~
~
e

9)

.........
- ~
- ~

------------
...........
e e®

10)

Math

Answers
1 or6
2 or5
3 5r3
a4 Sr6
5 4r5
6. r4
7 orl
8 3rl
9 3r4
10. rl
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